Algebra 2 Quiz #1 Review Sec 1-3 to1-5, 2-1, 2-2, 7-6 Fall 2013

Solve for the stated variable. State restrictions on the variables.

1. Solve for T. g—%T— -T17=W 2. SolveforK. E(K+5R) = —]%

3. Solve for R. RW+CR = MK 4. Solve for Q EQL ~E=X
Solve each inequality. Write All Real Numbers or No Solution if applicable.
5. 4x-T7(x+2) < 16 6. 6k—9+2k>8k+7

7. 4y-6)+y <3(2y+5) -y

Solve each compound inequality. State the answer as a single inequality, if possible. Write All Real
Numbers or No Solution if applicable.

8. 2R-1<-11 AND R=>6 9. 3E+9>-3 OR —-2E+1>5
10. 7W < 14  AND w>-3 11. 4 <12 OR A-6<-3
12. K>7  AND -3K<12 13. 2E-12>13 OR EZ<1

For 14 to 17, tell if each relation a function?
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For 18 and 19, state the domain and range of each relation:
18 (2,11),(4,8),(2,3),(-5,8)
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19 . 20. Given  flx) = 5x*-x Find f{-3)



For 21 to 24 use the following functions:

fx) =2x—1 g(x) = x* +2x h(x) =x+5 k(x) = 4x
21. Find f{g(~3)) 22. Find (ko /)(10)

23. Find g(k(x)) 24. Find (fo h)(x)

Solve each.

25. [5x—6| =9 26. 2x+9| > 13 27. J4x—3| < 10

28. Write the equation of the line that passes through this pair of points in both Point-Slope and
Slope-Intercept Forms:  (2,-2) & (-3,-17)

lgebra 2 Quiz #1 Review Sec 1-3, 1-4, 2-1,7-6  |[ANSWERS

1. T=£(-W+Tj):—c AM=#0 2. K=-=-5R or K:JCL—TSE5 NE+0
3'R=—VIJ/MTKC— W+C#0 4. )7(1% X+E+0,0#0

5. x>-10 6. No Sol 7. All Real Numbers 8. No Sol

9. All Real Numbers 10. -3 <w<?2 11. 4 <12 12. K>7

13. E<1 or E>2T7 14. Yes, it is a function 15. No, it's not a function
16. Yes it is a function 17. No, it's not a function

18. Domain : {~5,2,4%  Range : {3,8,11}  19. Domain : All Real Numbers  Range : y <3

20. f(-3) = 48 21. flgB3)) =5 22. (ko f)(10) = KA10)) =76
23. g(k(x)) = 16x% +8x 24. (foh)(x) = Ah(x)) =2x+9
25.x=—%,3 26. x<-1lorx>2 27. —%st%

28. Point-Slope Form: y+2 = 3(x—2) or y+17 = 3(x +3)
Slope-intercept Form: y = 3x -8



